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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 30 questions. All questions are compulsory.

(it)  This question paper is divided into five sections — Section A, B, C, D and E.

(iti) In Section A - Questions no. 1 to 12 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

(iv) In Section B — Questions no. 13 to 18 are Short Answer (SA) type questions,
carrying 2 marks each. Answers to these questions should not exceed 50 words
each.

(v)  In Section C - Questions no. 19 to 23 are Long Answer (LA) type questions,
carrying 4 marks each. Answers to these questions should not exceed 100 words
each.

(vi) In Section D - Questions no. 24 to 26 are Passage, Cartoon and Map-based
questions.

(vii) In Section E — Questions no. 27 to 30 are Long Answer (LA) type questions,
carrying 6 marks each. Answers to these questions should not exceed 170 words
each.

(viit) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A

Questions no. 1 to 12 are Multiple Choice (MCQ) type questions, carrying

1 mark each. 12x1=12

1. ‘South Asia’ does not include which one of the following countries ?

(a) Bhutan (b)  Nepal
(c) China (d)  Pakistan

2. In the European Union flag, the circle of gold stars stands for
(a)  solidarity and strength
(b)  peace and harmony
(c) unity and diversity
(d)  solidarity and harmony

3. Which one of the following was not a founder country of ASEAN ?

(a)  Singapore (b)  Thailand
(c) Indonesia (d) Vietnam
59/C/1 Page 3 of 23 P.T.O.



59/C/1

[E5[E

Al

(O}
difda died W MYmia =9 i AdeTawn & Y H AT S Dl
TEETHT |
(a) |} AATRERI I TSR GHfeaa fohe 7T |
(b) OB TETEH ol ARETEH 2! e T |
(c) < g foepmsfial gun & o fehat T |
(d) THS ATV 6T H ASHT JRY i TS |

fefefad § @ 9 g3 Tsgag il Tk e 757 B 2

(a) SIS 59 T
(b) IR (UNESCO)
(¢) AT =R

(d) IFE% (UNICEF)

IR AT hl TN o FIR, forelt <1 1 geeq ot Ffeifga & @ fopa
T H Gs @ad 7 ?

(a) ©WHT % 9E ¥ A @aU

(b) anfie T @

() SHEEH foehie 9

(d) HgEIET &

AR T Y&l IU-JLTHT I o7 2

(a) ®ER 9 (b)  HES eETE

(¢ =t = fag @ . TererE

1953 | TS YIS AT o1 e Topm fote femarm rm o 2
(a)  hre-3NTGd & o uior 6t fawrier & fou

(b) TSN % GAHMRA % fIQ

() TSETEl % 9Rd H foer™ % fo1g

(d) <hact Teifesr Smee o 1€ JTat % gAied @ g
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4, Identify the false statement related to the Chinese economy based on the

Soviet model.

(a) Employment was assured to all citizens.

(b)  Better health was not ensured.

(c) China moved ahead of many developing countries.

(d) Many social welfare schemes were introduced.

5. Which one of the following is not an agency of the United Nations ?

(a)  International Labour Organisation

(b) UNESCO
(c) International Court of Justice
(d) UNICEF
6. In the traditional concept of security, the greatest danger to the security

of a country is from _

(a)  military threats from outside its borders
(b)  economic crisis

(c) population explosion

(d) from epidemics

7. Who was the first Deputy Prime Minister of India ?

(a)  Sardar Patel (b)  Morarji Desai
(c) Ch. Charan Singh (d) C. Rajgopalachari
8. The States Reorganisation Commission was appointed in 1953 to

(a) recommend the formation of Union Territories
(b) redraw the boundaries of States
(c) merge the Princely States with India

(d)  reorganise only the provinces under the British control

59/C/1 Page 5 of 23 P.T.O.
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(a) 1950 (b) 1956

(c) 1962 (d) 1968
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(i) A 99 FA1E ek I9aTd g WAl Teaed (F9) sheg H &1 8
3T |

(i) S THN 91 I IW TN § Ig! 9N IZEHE Fhadl ITH T |

(i) TS AN 3 AU il weqa i |

(iv) TE.El. TSl WRA & Y9 9ot 4 |

& famred g |
(@ (), (i), (iii), (v) ®) (), (i), (i), (v)
(¢)  (id), (i), Gv), (1) @ (), (i), (ii), (1)

Yo G 12 % 1070, 31 YT 15¢ T & — [H U F S5 (A) a9 R F
HRU (R) ZIT 3Hd 1637 77 & | 37 H971 & €77 @ 9w 37K 19 3¢ 77 faweql
(@), (b), (c) 3R (d) § & IR & &7 7 Ggl 957 Ji4T |

12.
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STYHYT (A) : 2014 ST VAT TSI H IHE@ qiaad, STid X gd-semia
I | foehrE SR AH-3-4@ TSHITG hi 3R ST o |
FRU(R):  WAELU. III &l TWHR F ST o AU ATfieh-amTtSieh sheamor
I 3T AT I IE FoRAT |
(a)  SANH (A) 3R RO (R) I T&l 8 W SRl (R), 31fieme (A) 6
T AT Hidl B |
(b) AT (A) 3R FRO (R) SFI &l &, T R (R), R (A) hl
T AT TET HLdl & |
() WA (A) T8l &, T BN (R) TMd & |
(d) AR (A) TAd 7, T SR (R) Tl 3 |
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11.

For Question number 12, two statements are given — one labelled as Assertion (A)
and the other labelled as Reason (R). Read these statements carefully and choose the

i)
GE

Where was the first summit of the NAM held in September 1961 ?

(a)
(c)

New Delhi (b)  Cairo
Jakarta (d)  Belgrade

In which year did China take over the control of Tibet ?

(a)
(c)

1950 (b) 1956
1962 (d 1968

Rearrange the following events in a chronological order :

(1)

(ii)

(iii)

(iv)

Lok Sabha Elections after which United Progressive Alliance
(UPA) came to power at the Centre.

Bahujan Samaj Party achieved first breakthrough in Uttar
Pradesh.

The Mandal Commission gave its recommendations.

H.D. Deve Gowda became the Prime Minister of India.

Choose the correct option.

(a)
(c)

(1), (i1), (ii1), (iv) (b) (@), (ii), (i), Gv)
(ii1), (i1), (iv), (1) (d)  (@v), (i, (D), @)

correct option as the answer from the options (a), (b), (c) and (d) given below.

12.

59/C/1

Assertion (A) : A major change in Indian politics after 2014 is the shift

from caste and religion-based politics to development and
governance-oriented.

Reason (R): The NDA III government started several socio-economic

(a)

(b)

(c)
(d)

welfare schemes for the masses.

Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.
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o (BRICS) o1 faeqa &9 foifau qen sdeh Y&F 3£99 &l IR hIT | 1+1=2

2wt g % el a2 % Am fafaw | ax 4 =2
‘U T Tk TSHITTP T o & H Al fowhidd g7 27 — 39 HI4T & 98
T HIE a qoh GITT | 2x1=2
gfeem <t gra weqa fg-trse & faga’ i samen $ife | 2
1964 T MR HEYFE 91 o TS o SR i T HIfT | 2
Tl o o1¢ Ugelt 9R fohet - UeHifas g 3 wa IR fhw T °
GTHR &7 2 39 TaHITdeh gf o1 9 +ft fafgu | 1+1=2
Qug T

HYH UEE 6 fohegl a1 @ 3TN H1 3g@ HIE 3 3 ¥ forelt T Al
HTEAT 1 U I | 2+2=4

w1 I8 3 § 6 it vt 1 iR wee e e uftag & Shaw uiw
Tl weEl g fan S 2 fRedl Q1 Sugw dhl g U I g

i | 2%2=4
WA Shl FEhId T STl o U Toheal a1 JHTEl o1 fargeryor i | 2x2=4
1947 ¥ fI9SH % 9vETq, TGS WRA  THE MG fohral gl ANl ol IATR
i | 2x92=4
NG | 1960 % <k hl GdHTh ek o ®I H g JH & U Iaer
STTRTRIAAT sl IR hIfT | 4
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SECTION B
Write the full form of ‘BRICS’ and highlight its main objective. 1+1=2
Name any four countries of the Second World. 4x é =2
Give any two arguments to support the statement — “The European
Union has increasingly evolved as a political union”. 2x1=2
Explain the ‘“Two-Nation Theory’ advanced by the Muslim League. 2
Explain the cause of split in the Communist Party of India in 1964. 2
When and in which State did a non-Congress political party form the
Government after Independence for the first time ? Name the political
party also. 1+1=2

SECTION C
Name any four principal organs of the United Nations and describe the
composition of any one of them. 2+2=4

Is it justified to give Veto Power only to five permanent members of the

U.N. Security Council ? Support your answer with any two arguments. 2x2=4

Analyse any two effects of globalisation on the culture of India. 2x2=4

Highlight any two challenges faced by free India after partition in 1947. 2x2=4

Highlight the apprehensions responsible for labelling the decade of 1960s

in India as the ‘dangerous decade’. 4
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freafeafea saawn w1 ermydes ufeu 3t fi= for T wwEt & I e 4x1=4

1977 W a1 U1 1 TR S off | 39 SRR A "wen i foh gt qefus
Fifa 1 qrem foram STwm | 5ok AT < At Tl 3 (R AT TR ) ==
% WY IEA HEY S 3R IR &k WY ASehl fwd I H Al 95 A |
IR YOI § 3T AMIR W a1 arelt sgal § ot 9ra i fagw Hfifa =
forey A W Q1 HeWl § Q@ S 2 | 1990 % 91G o G H FAHLh-aneh foagm
Hifd 1o % forw v e Y ATeeAT B8 R |

(i) a1 9 R | g= Tefue fifd 1 are e o foTr wRedt fagw
Hifs § = gieds s 1 HEar fma 2

(a)  HIIId 99 hl TR YehTd i Tt b SAT@m |

(b) ~ {RA AYAT Ik T[C FATTT |

(c) ua 3ot faew Hifa & srwien Y IR gepra areft Hifq mem |
(d) WRA 9UH T i A ST |

(i) 1977 " SHa1 Uil o EAehTA § ffafiad 8 @ R & Y9 1) i

q ?
(a) = = g (b) AR ETd
(¢) = qdl A (d) =R
(iii) 1990 & ¥ H YR faew Hifd 4 smliwr-omdes wrifa =™ =
<h U7 T o7 ?
(a)  areies f&a (b) &= f&a
© —IfFer f&a (d) HrEpiae &
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SECTION D

24. Read the following passage carefully and answer the questions that
follow : 4x1=4

The Janata Party Government that came to power in 1977 announced
that it would follow genuine non-alignment. Since then, all Governments,
(Congress or non-Congress) have taken initiatives for restoring better
relations with China and entering into close ties with US. In Indian
politics and in popular mind, India’s foreign policy is always very closely
linked to two questions. In the post-1990 period, the ruling parties have

often been criticised for their pro-US foreign policy.

1) What did the Janata Party Government decide to change in the

foreign policy of India to follow genuine non-alignment ?
(a)  Pro-Soviet tilt would be corrected.

(b)  India would form its own power bloc.

(c) India would have a pro-US tilt in its foreign policy.

(d) India would remain isolated.

(i)  Who among the following was the Prime Minister of India when

the Janata Party came into power in 1977 ?
(a)  Ch. Charan Singh (b) Morarji Desai
(c) Ch. Devi Lal (d) Chandra Shekhar

(iii) The pro-US strategy in India’s foreign policy during 1990s was

mainly due to its
(a)  economic interests (b)  military interests

(¢) nuclear interests (d) cultural interests

59/C/1 Page 11 of 23 P.T.O.
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(iv) Trafafaa gegl & & +ia-an geer gosn vra & foew Hifa & fevear @
IS &8 ?
(a)  YRA-#Tohl o AT Ty
(b)  WRA-UTfREA™ & HeY
(c) WRA-HH % ATERidH Tad
(d) 9RA-SIYM o Y] T&9

25. WA % U T TSI {@I-AHRA (58 13 W) H 91 T4 6l @), B, ©
(D) & gRI 3Afehd foham T 7 | = € T8 AHhRI o SMER W 34 TsAl ohl
UM hINT TR AT IT-YREThT H 396 T&l 9, TN 6l T3 DRI
HH-GEAT qAT gHrad § fear mon gefuq o1em, = & 18 arfdet & ®9 A
faRem 4x1=4

T Al S SHeRR | AEfeT | fean
61 HH-IE TRIT HETd 3181

Uy <l 4H

(i)

(i1)

(iii)

(iv)

(i) 98 T Feh! ay a9 gures .. Toeard} Ui & o |
(i) 98 TS T&T Tshia Tl — AliaTer Tmeia W geder e T 9 |

(ii) 98 US¥ f9E8 ATTem &1 999 o |
(iv) a8 Tsa raeht g9 qd g o= w321, qaier 9 o |
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(iv)  Which one of the following issues has always been closely linked to
India’s foreign policy ?

(a) India’s trade relations with Sri Lanka

(b) India’s relations with Pakistan

(¢) India’s cultural relations with China

(d)  India’s nuclear relations with Japan

In the given political outline map of India (on page 15), four States
have been marked as @A), B), (© and (D). Identify these States on the

basis of the information given below and write their correct names in

your answer-book along with the respective serial number of the

information used and the concerned alphabets given in the map as per

the following format :

Serial number of the
information used

Concerned alphabet
given in the map

Name of the
State

(i)

(i1)

(iii)

(iv)

dx1=4

) The State to which the social reformer E.V. Ramaswamy Periyar

belonged.

(i)  The State where Rajiv Gandhi — Longowal Accord was signed.

(iii) The State to which Laldenga belonged.

(iv) The State to which former Prime Minister H.D. Deve Gowda

belonged.
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For question no. 25

£ By Outline Map of India (Political)

km Scale 1:15000,000 km
100500 100 200 300 400 500
[ —" —
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g: 4x1=4

(25.1) 38 TF &1 W fafaw e g9y aue ganes 3.4, qomar afem
g o |

(25.2) TSi e — SATeTe @A fohe T % 91 H g3 o1 ?

(25.3) T TsT <1 gHETSAT 1 THIUH i o U ATdem dqon TSa et
o ol gl T SEA1ER BT o ?

(25.4) STH qAT HIHR TSI § HIH-Y Q hrg-WMd & S T 2

26. = fou T FEA w1 emyEs e difvw it frefafed ww % I
IS L1 4x1=4

Surendrd, The Hindu

(i) T men e ffiifea et direHl § | Tohd T § §aid g ?
(a)  SHIN (b) foom
(¢ SfI-7 (d) Ik (c&9)
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Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 25 : 4x1=4

(25.1) The Social reformer E.V. Ramaswamy Periyar belonged to which
State ?

(25.2) Rajiv Gandhi — Longowal Accord was signed for which State ?

(25.3) Rajiv Gandhi signed an agreement with Laldenga to resolve the
problems of which State ?

(25.4) Which two Union Territories were carved out of the State of

Jammu and Kashmir ?

26. Study the cartoon given below carefully and answer the questions that

follow : 4x1=4

Surendrg, The Hindu

) The cartoon is related to which one of the following regional
organisations ?
(a) ASEAN (b) BRICS
c G-7 (d) SAARC

59/C/1 Page 17 of 23 P.T.O.
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(i) W TgH ¥ 1 g hifore freeht am wda # & R |

(a) ¥

(b)  AHMHEAH
(c) TR

(d) dTfeRea™

(iii) T ¥ GG HTeA 1 T&F 3¢9 R 7 ?
(a) SEEAT HIEFl § 9 Tl H W AN TATMUq HET |
(o)  forata gat =t fwer |
(c) ST FHINTh qAT GTiHeh Sl I §A HehTHT |
(d) W g¥A % foeg 3hg TcTet ehTereTl T |

(iv) Trfafad gew oo & @ fem 3w § Faffad @R 787 & 2
(a) 9T (b) HAdE
(c) g (d STy

Fig:  FHECTRET Jo7 Facl FIRETET qhgniaal & 1077 397 &1 26 & €& T
g 4x1=4
(26.1) @ geaeft, Fafafga el § @ w-91 o 9 B 2
(a) I8 T &I ARSI 989 2 |
(b)  TEAN Shi TATIT o fTU I8 Tk & 999 B |

(c) 3! foga AW (¥9) 2 9189 URRA THIfueE ®R fasad e
HIATRIA |
(d) Heh (S8H) T G AT HE&T o =4 8 |
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(i1)  Identify the member country whose name is missing in the

cartoon.

(a) Iran

(b)  Afghanistan
(c) Myanmar

(d) Pakistan

(iii)) What is the main objective of the organisation related to the

cartoon ?

(a) To evolve cooperation among member states through

multilateral means.
(b) To resolve bilateral conflicts.
(c) To solve mutual social and religious conflicts.

(d)  To fight together against a common enemy.

(iv)  Which one of the following member countries does not have an

elected government ?
(a) Nepal (b) Maldives
(c) Bhutan (d) Bangladesh

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 : 4x1=4

(26.1) Which one of the following statements about SAARC is correct ?
(a) Itis a major international initiative.
(b) It is a regional effort to evolve cooperation.

(e) Its full form is South Asian Association for Revival of

Cooperation.

(d)  China is the most powerful member of SAARC.
59/C/1 Page 19 of 23 P.T.O.



(26.2) TR (SAFTA) &1 T3l foqd €9 Ig=TT |
(a) ©RY TREM BF o8 Wit
(b) W13 TREA BEARAT 8 THIfHuEH
(c) &= TREA % JT witle
d) @S TREE % dad whie

(26.3) Tr=feaa & @ forg <o 1 eferor wier ° wfeifea 787 foran STan 8 2
(a)  STHMEH (b)  UIfeREa™
(¢c) = (d) MR

(26.4) 9T A ¢ WiAUH I fhH a9 fiRa fopam o 2

(a) 2014
(b) 2015
(c) 2016
(d 2017

Qs g

27. (%) difowyd 99 4 gUR o &g Marad gl YRY fhu T gami & foredl o=

fowdia wrat w1 e i | 3x2=6
e
(@) wifaaa g o faeed & gl i afomt =1 favem i | 3x2=6
28. (%) TIAAAT % ¥ UGl OR TaA U FsI& IAE HE H 9Rd o A
JTRINT < THE 3TTE qUEATSTi o foweryur hifd | 6
T
(@) TadIdT & YT UEA G GUIehl o GRIM MR shi TsHifa | fageft gett <t
¥Rt T SR HIMT | 6
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(26.2) Identify the correct full form of SAFTA.
(a)  South Asian Foreign Trade Agreement
(b)  South Asian Financial Trade Association
(c) South Asian Free Trade Agreement
(d)  South Asian Free Travel Agreement

(26.3) Which one of the following countries is nof included in ‘South

Asia’ ?
(a)  Afghanistan (b) Pakistan
(c) China (d) Myanmar

(26.4) In which year did Nepal adopt a new constitution ?

(a) 2014
(b) 2015
(c) 2016
(d) 2017

SECTION E

27. (a) Analyse any three adverse effects of the reforms initiated by
Gorbachev in the Soviet Union. 3x2=6

OR

(b) Analyse any three consequences of the disintegration of the Soviet
Union. 3x2=6

28. (a) Analyse the problems faced by the Election Commission of India
in holding free and fair elections for the first time after

Independence. 6

OR

(b)  Assess the role played by the opposition parties in the politics of
India during the first two decades after Independence. 6
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AT < qvETq W q9T AR i foarerug dur wedyel aeifd o

foru STRerht fongl i ehl ol IR HIfT | 3x2=6
ST

WA o TSI T gUIHt IHTe Sie aTefl 1980 | 1990 % sfte H

ged fohrgl T J&F Je13Tl i IR it | 3x2=6

Syttt o foregl 9 ToHifees aftomat =i SSr <hifse | 3x2=6
rqaT

qtaRer Feeft fopegl I et I ISR hifSu S fowa UeHifa

foean o= ght # | 3x2=6
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(a)

(b)

(a)

(b)
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Al

[=
Highlight any three factors responsible for the controversial and

conflict-ridden politics of Jammu and Kashmir since
Independence. 3x2=6

OR

Highlight any three major developments that India witnessed
from 1980 to 1990 that had a long lasting impact on Indian
politics. 3x2=6

Highlight any three political consequences of globalisation. 3x2=6

OR

Highlight any three issues of environmental concern that have

become part of global politics. 3x2=6
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